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CLS: PRINT

PRINT « BASIC DRILLING COST”

PRINT

PRINT “WHAT IS AVERAGE BIT LIFE(HOURS)?”
INPUT TB

PRINT “«WHAT IS NONROTATING TIME(HOURS) ¢”
INPUT TC

PRINT “WHAT 1S TRIP TIME(HOURS)?”

INPUT TT

PRINT “WHAT ARE FIXED RIG COSTS($/HOUR)?”
INPUT CR

PRINT “WHAT IS THE COST OF THE BIT($)?”
INPUT CB

PRINT “WHAT IS THE INTERVAL DRILLED(FEET)?”
INPUT DD

CF=(CB+(CRx (TB+TC+ TT)))/DD

PRINT “BASIC DRILLING COST IS; 4;CF;” $/FEET”
END
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RUN

l

INPUT
T8,TC,TT,CR,CB,0D

|

CALCULATE
CF

l

OQUTPUT
PRINT CF

I

END
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2500
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200 CLS: PRINT
210 PRINT «

8,52959
2,4672
7.499
4,763

RATE”

220 PRINT
230 PRINT

B RAR
158,896
39.9356
10,0371
2.52263

WELL DRILLING TIME AND PENETRATION

240 PRINT “HOW MANY REFERENCE RATES ARE AVAILABLE? ”

250 INPUT N
260 FORM=1TO N

270 PRINT “WHAT IS+ %; M; ” DEPTH(FEET)? ”

280 INPUT D(M)
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ZX (M) =D(M)

PRINT “WHAT 1S CORRESPONDING PENETRATION RATE
(EEET/HOUR)? ”

INPUT DD(M)

ZY (M) =DD(M)

NEXT M

FOR M=1TO N

ZY (M) =LOG(ZY(M))

NEXT M

21=0:22=0:7Z3=0:Z24=0:25=0

FOR M =1TO N

Z1=71+ZX (M)

22=22+2Y (M)

Z3=Z3+ZX (M) xZX(M)
Z4=74+ZY (M) xZY (M)
25=25+ZX(M) x ZY (M)

NEXT M
ZB=((NXZ5)-(Z1x22))/((NxZ3)-(Z1 x Z1))
ZA=(Z2-(ZBxZ1))/N

ZA =EXP(ZA)
K=ZA

A2=-7B
PRINT “WHAT IS TOTAL DEPTH OF NEW WELL(FEET)? ”
INPUT D
PRINT “HOW MANY DRILLING DEPTHS NEED DETAILING

INPUT L

LPRINT “DEPTH TIME TO DEPTH PENETRATION
RATE”

ID=D/L

SD=¢

FOR M=1TO L

SD=SD+1ID

=TD(1/(Kx A2)) x (EXP(A2xSD) -1)

DD=Kx EXP(-A2xSD)

LPRINT SD,TD,DD
NEXT M
END
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210
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300
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520

RUN
INPUT
N

|

FOR M = 1toN
INPUT
D(M),DD(M)

Y

FOR M = itoN
CALCULATE
ZX(M),ZY(M)

\

CALCULATE
21,22.23,Z4,25
Z8,ZAK,A2

FOR M = 1toL
CALCULATE
SD,7D,DD
OUTPUT
PRINT SD,7D,DD
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7 0,009

BEH 4,37692 (kP )
BRRH#E: -~ 4.39588

nREM

RUN

T(M).P(M),Q(m)

INPUT
P(0)

Y

SET
Q@)=0
T©)=0

y
FOR M = 1toM
CALCULATE
SQ(M),PP(M)

i

CALCULATE
M B

INPUT
RW,PP.H.MQ.CT,BG

y

CALCULATE
KAAAB,S

QUTPUT
PRINT K.S

END
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